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Ritp:/farbe i tu-berlin.de/ CEEZICEE2L ONA. TXT 1.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDul-triangle lightness t*
- with Y=Yy =100,
LABJINDu1-triangle lightness for colours with t%,=-439
t* LaBINDuL =A2n[IN[(A 17+A2Y)IA 0] (Y,/100<Y<=Yy)
+\=—642,t,=—439,t,=—179,n=0,66,A,=0,017,A,=0,0(
T*90-T*u=259,61, fakj=0,1001,, A0-.0,10C JYAOD65=0,6{
T*18-T*u=-0,00, AOn=0,666, Aln -0,01",A2n=0,003
T*04-T*u=-192,49
T*03-T*u=-219,62
T*u=-439,62

application
, range
o’
o y,=18
"_-:-:-_'-:-:-: -

CEE20-1N

LABJINDu1-
v tristimulus value difference
A with Y=Yy =100,
t* L agaNDu1 =A2nlIN[(A 1n+A2nVI/A 2] (Yo/100<Y<=Yy)
LABJINDul-tristimulus value difference
AY)FA(A1ntALLY)Asn, A1y=0,017, A=0,0058, A=]
d¥19060, 2%:Falg-011008e AGB, 28002 KED65=0,666
4Y¥18=0,05, AOn=0,666, A1n=0,011, A2n=0,003
dY04=0,01
dY03=0,01
dYu=0,05

t*,=—439 dY,=0,05 d¥/%,=0.ru29
"' application
41 range
1
1Y,=18

CEE20-3N
log AY/Y)

LABJNDu1l-

_ tristimulus value sensitivity

S=(@AYH) with Y=Yy =100,

t* LaBaNDu1 =A2n[IN[(A 1n+AnY)I/A 0] (Yy/100<Y<=Yy)

LABJNDul-tristimulus value sensitivity
AYIY=AGR(A 1+ Az A/ (Y)

(dY/Y)900,00, fakj=0,1000, A0=0,1000, AOD65=0,666

(dY/Y)18/uC,00, AON=0,666, A1n=0,011, A2n=0,003

(dY/Y)04/u0,0u

(dY/Y)03/u0,00

dYu=0,05

CEE20-5N

log (Y/AY)

LABJINDu1-
tristimulus value contrast

=) Yo=Yy ~ =100

t* L ABaNDu1L =A2nlIN[(A 1n+A2nYV)I/A 2] (Yo/100<Y<=Yy)

LABJINDu1-tristimulus value contrast
(YIYRY/[Aon(A1ntAznY)/Azq

(Y/dY)90379,47, fanj=0 1722, A5-Y,1000,-A0D65=0,6(
(Y/dY)18336,96, AZ:1=0,666, Aano ommpmuﬂmoos
(Y/dY)04226,15

(Y/dY)03198,12 2 AT
M T

e,

relative LABINDul-triangle lightnesst*
v, with Y,=Yyy =100,

relative normalized LABJNDu1 data
LABJNDul-triangle lightness for colours with t%,=-439
t*LaBaNDu1 =A2n[IN[(A 17+A2RY)IA 0] (Yy/1008Y<=Yy)
T*90-T*u=259,61, fakj=0,1001), A0--0,10C Q¥A0D65=0,6
T*18-T*u=-0,00, AOn=0,666, Alr -0,01",A2n=0,003
T*04-T*u=-192,49

T*03-T*u=-219,62

T*u=-439,62

t*l(t* )I=1, m=-0,42

CEE20-2N

log(AY/AY,)

relative LABJNDu1-
tristimulus value difference
AT with Y,=Yyy =100,
t*LaBaNDu1 =A2n[IN[(A 1n+A2nY)I/A 20] (Yn/100<Y<=Yy)
relative LABJNDul-tristimulus value difference
(AdYY(@Y)=Agnl(A1qtA2nY)/A2nll (dY),
dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6H
dY*18/dYu=1,00, AOn=0,666, A1n=0,011, A2n=0,003
dY*04/dYu=0,33
dY*03/dYu=0,28
dYu:0,0S
9 dY;=0
" 0g[(@Y)(@Y]=0, my=0 %o ! appiication
5 , range
Yn=4 1y,=18
i

CEE20-4N

10g [(AY/Y) I (AY/Y,)]

relative LABJNDul-

tistimulus value sensitivit

SISU=OYNIAYTY)  yov S YR EnSIY

t*LaganDu1 =A2nlIN[(A 10+A2nY)I/A2n] (Y/100<Y<=Y,)

relative LABJNDul-tristimulus value sensitivity
(dY/YY(dYu/Yu)=Aonl(A1ntAanY)/Aznl/ Y((dY)/(Yy)
(dY/Y)90/u0,28, tan;=2,2000 A0=0,1000, AOD65=0,66)
(dY/Y)18/u1,00, "f)n 0,666, A1n=0,011, A2n=0,003
(dY/Y)04/u1,49
(dY/Y)03/u1,70 S

= application

dYu=0,05 é’rf’ge

A N
| log[(@Y/YY(@dY,/Y)]=0, m=-0,13 1
t,=-439 d¥,=0,05 d¥/¥,=0,0029 }
Yaz4 o 'Y,=18
1

CEE20-6N

log [(YIAY) I (Y/AY,)]

relative LABJNDu1-
tistimulus value contrast
CHCy=(YIAVI(Y/AYD) Y=y, =100

n
t*LaBaNDu1=A2n[IN[(A 1n+A2nY)I/A 20] (Yo/100<Y<=Y,)
relative LABINDu1l-tristimulus value contrast

(YIYY(Yu/dY)=Y/Aon(A1ntAnY)A2al ((Y)L/(dYy)
(Y/dY)90/u1,12, fakj=0,1000, A0=0,1000, AOD65=0,66[
(Y/dY)18/u1,00, AOn=0,666, A1n=0,011, A2n=0,003
(Y/dY)04/u0,67

(Y/dY)03/u0,58

dYu=0,05

log[(Y/dY)(Y,/d¥,)]=0, rnu =0,13

LABJNDul-triangle lightness T*
with Yy=L*\y ~  ,=100,

LABJNDu1-triangle lightness for colours with T*,=-439

T aganDu1 =A2nlIN[(A 17+A2,Y)VA 2] (Y//100<Y<=Y)
#\=—642,T*,=-439, T =—-179,n=0,66,A,=Q,017,A,=0,(

T*90-T*u=. 259 61, fakj=0,1000, A0=0,1r.0r *A0D65=0,6

T*18-T*u=-0,00, AOn=0,666, A1n=C,0.1 A2n =0,003

T*04-T*u=-192,49

T*03-T*u=-219,62

T*u=-439,62

CEE21-1IN
log AY LABJINDu1-

v tristimulus value difference
A with Y,=L*, =100,
T*LABINDu1 =A2n[IN[(A 17+A2nY)J/A 20] (Yy/100<Y<=Y,)
LABJINDul-tristimulus value difference
(AdY)EA(A 1A/ Asn, A1y=0,017, A,=0,0058, A=
d¥19060, 2%:Falg-011008¢ A GB, 28002 HED65=0,666
4Y18=0,05, AOn=0,666, A1n=0,011, A2n=0,003
dY04=0,01
dY03=0,01
dYu=0,05

T*=-439 dY,=0,05 dY/Y,=0,0C2¢
2 application
,¢ 1 range

1
1Y,=18

CEE21-3N
log AY/Y)

LABJNDu1l-
tristimulus value sensitivi

S=@vMm Wit mir g 2100,
T*Laganpu1 =AznlIN[(A 15+A2nY)V/A 2] (Y//100<Y<=Y,)
LABJNDul-tristimulus value sensitivity

AYIY=AGR(A1+ Az A/ (Y)
(dY/Y)900,00, fakj=0,1000, A0=0,1000, AOD65=0,666
(dY/Y)18/u0,00, AOn=0,666, A1n=0,011, A2n=0,003
(dY/Y)04/u0,00
(dY/Y)03/u0,00

dYu=0,05 application
range

T*,=-439 dY,=0,05 d‘(/Y =0, 9{)29 IY _18

CEE21-5N

log (Y/AY)

LABJINDu1-

C=(YIAY) $'5:ILTU|”S vna_lue contrast

T* Laganpur =A2n[IN[(A 17+A2Y)I/A 5] (Y,/100<Y<=Y,)

LABJINDul-tristimulus value contrast
(YIAYFYAon(A1ntAznY)/Azdl

(Y/dY)90379,47, f~'..~5,1000, A0=b,1000-A0D65=0,64
(Y/dY)18336,96. .A0N=0,666, Aano ommpmuﬂmoos
(Y/dY)04226,13

Y/dY)03198,19 - -
l(‘ivll—% 05 Ynz4 lYu-l8
T

THT*, relative LABJNDul-triangle lightness T*

T, with Yo=L*y, =100,
relative normalized LABJNDu1 data
LABJNDul-triangle lightness for colours with T#%,=-439
T*L aBanDu1=A2nlIN[(A 1n+A2nY)VA 2] (Yo/10Q<Y<=Y,)
T*90-T*u=259,61, fakj=0,1000, A0=0,1r 07 #A0D65=0,6!
T*18-T*u=-0,00, AOn=0,666, A1n=C,0.1 iZn =0,003
T*04-T*u=-192,49

T*03-T*u=-219,62

T*u=-439,62

TH(T4I=1, my=-0,42

application
range

CEE21-2N

log(AY/AY,)

relative LABJNDu1-

tristimulus value difference

AYIAY, with Y,=L*y, =100,

T*LaBINDu1=A2n[IN[(A 1n+A2nY)V/A 20] (Yn/100<Y<=Y,)

relative LABJNDul-tristimulus value difference
(dYY(@Y)=Agnl(A1qtA2nY)/A2nll (dY),

dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6}

dY*18/dYu=1,00, AOn=0,666, A1n=0,011, A2n=0,003
dY*04/dYu=0,33

dY*03/dYu=0,28

dy 05

" logl(@YY(@¥)I=0, m,=0.86 J+*\ application

' range

-
-

T Ya=4 o YY=18
1

CEE21-4N

log [

(AYIY) I QYY1 relative LABIJNDu1-
tistimulus value sensitivit
SISU=OYNAYTYY)  ym(x S e
T*LaBINDu1=A2n[IN[(A 1n+A2nY)V/A 20] (Yn/100<Y<=Y;)
relative LABINDul-tristimulus value sensitivity
(dY/YY(dYu/Yu)=Aonl(A1ntAanY)/Aznl/ Y((dY)/(Yy)

(dY/Y)90/u0,88, fakj=0,1000, A0=0,1000, AOD65=0,66

(dY/Y)18/u1,00, AON=0,666, ALn=0,011, A2n=0,003
(dY/Y)04/u1,49

(dY/Y)03/u1,70

dYu=0,05

S
" logl@YIYY(@Y,Y,)]=0, m,=-0,1
T4,=-439 dY,=0,05 d/,=0,0029}
Ya=4 o 'Y,=18
1

CEE21-6N

log [

(YIAY) 1 (Y/AY)] relative LABJNDu1-
tistimulus value contrast

ClCr=(YIMIYIAY) =% " s

T* L aBanDu1 =A2nlIN[(A 17+A2nY)VA 2] (Y/100<Y<=Y,)
relative LABINDu1l-tristimulus value contrast
(YIYY(Yu/dY)=Y/[Aon(A1ntAnY)A2al ((Y)L/(dYy)

(Y/dY)90/u1,12, fakj=0,1000, A0=0,1000, AOD65=0,66}

(Y/dY)18/u1,00, AOn=0,666, A1n=0,011, A2n=0,003
(Y/dY)04/u0,67

(Y/dY)03/u0,58

dYu=0,05

log[(Y/dY)(Y,/d¥,)]=0, m,= 013
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CEE21-7N

TUB-test chart CEE2; LABINDU2& T*, Y n=(Y&L*)wrcen for Y/Y
Absolute and relative lightness, sensitivity and contrastA0=1,00, AOD65=0,66, A
M Y

CEE20-7N CEE21-8N

CEE20-7N




